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U.G. DEGREE EXAMINATION, NOVEMBER 2021 

Commerce 

Allied Course IV : FINANCIAL ACCOUNTING — II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by accounting? 

 PnUQ¯¼ß ö£õ¸Ò GßÚ? 

2. What is due date? 

 uÁøn|õÒ GßÓõÀ GßÚ? 

3. What is Red Ink Interest? 

 ]Á¨¦ ø© Ámi GßÓõÀ GßÚ? 

4. What is legacy? 

 E°À ‰»® |ßöPõøh GßÓõÀ GßÚ? 

5. What is debtors ledger? 

 PhÚõÎPÒ ÷£÷μk GßÓõÀ GßÚ? 
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6. What do you mean by general ledger? 

 ö£õx ÷£÷μk £ØÔ }Âº AÔÁx ¯õx? 

7. Write any two salient features of single entry system.  

 JØøÓ¨ £vÄ �øÓPÎß H÷uÝ® C¸ C¯À¦PøÍ 

GÊxP.  

8. What is single entry system? 

 JØøÓ¨ £vÄ �øÓ GßÓõÀ GßÚ? 

9. What is Depression? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

10. What is meant by reserves? 

 Põ¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Kannan purchases goods from Raman the due dates 

for payment in cash being as follows.  

 Rs.  

Mar. 15 1,000 Due 18th April

April 21 1,500 Due 24th May 

April 27 500 Due 30th June

May 15 600 Due 18th July 

  Raman agreed to draw a bill for the total amount 

due on the average due date. Ascertain that date.  
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  Psnß μõ©Ûhª¸¢x \μUSPÒ öPõÒ�uÀ 
ö\´uõº. öμõUPa ö\¾zxuÀPÎß {¾øÁz ÷uv 
¤ßÁ¸QÓx.  

 ¹.  

©õºa 15 1,000 H¨μÀ 18À ö\¾zu ÷Ási¯x 

H¨μÀ 21 1,500 ÷© 24À ö\¾zu ÷Ási¯x 

H¨μÀ 27 500 áüß 30À ö\¾zu ÷Ási¯x 

÷© 15 600 áüø» 18À ö\¾zu ÷Ási¯x

  Cμõ©ß \μõ\› {¾øÁ ÷uv°À ö\¾zu ÷Ási¯ 
ö©õzu öuõøPUS ^mk GÊu J¨¦UöPõshõº. 
A¢uz ÷uvø¯ Psk¤i.  

Or 

 (b) Explain the uses of calculation of interest.  

  Ámi PnUQku¼ß £¯ßPøÍ ÂÍUSP. 

12. (a) State the purpose of preparing the receipts and 

payments account.  

  Á¸Áõ´ ö\»ÂÚU PnUSPÒ u¯õ›¨£uß 
÷|õUP[PÒ GÊxP.  

Or 

 (b) From the following find how much is to be shown in 

income and expenditure about for the year ending 

31.12.2019 for subscription.  

 Rs. 

Subscription received during the year 10,000

Subscription outstanding on 31.12.2018 1,000

Subscription outstanding on 31.12.2019 500

Subscription received in advance 31.12.2018 750

Subscription received in advance 31.12.2019 300
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  RÌPõq® \¢uõ £ØÔ ÂÁμ[P¼¸¢x 31.12.2019 

Ehß �iÁøh²® BskUPõÚ Á¸Áõ´ ö\»ÂÚ 

PnUQ¯À \¢uõ öuõøP GÆÁõÖ Põmh¨£h 

÷Ásk® GÚ PshÔP.  

 ¹. 

CÆÁ¸h® \¢uõ ö£ØÓx 10,000

31.12.2018 À Áμ÷Ási¯ \¢uõ 1,000

31.12.2019 À Áμ÷Ási¯ \¢uõ 500

31.12.2018À �ß Tmi÷¯ ö£ØÓ \¢uõ 750

31.12.2019À �ß Tmi÷¯ ö£ØÓ \¢uõ 300

13. (a) From the following date, ascertain sales were 

during the year by preparing memorandum trading 

account.  

 Rs. 

Stock on 1.1.2018 60,000

Stock on 31.12.2018 40,000

Purchase during 2018 4,00,000

Rate of gross profit on sale 20%

Wages paid 10,000

  Prepare the sale ledger adjustment a/c as it would 

appear in general ledger.  
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  ¤ßÁ¸® Â£μ[PÎ¼¸¢x, SÔ¨£õøn Â¯õ£õμU 

PnUS u¯õ›zx C¢u Á¸hzvØPõÚ ÂØ£øÚ 

Psk¤i.  

 ¹. 

1.1.2018 AßøÓ¯ \μUQ¸¨¦ 60,000

31.12.2018 AßøÓ¯ \μUQ¸¨¦ 40,000

2018UPõÚ öPõÒ�uÀPÒ  4,00,000

ÂØ£øÚ «uõÚ ö©õzu C»õ£ ÂQu® 20%

T¼PÒ ö\¾zv¯x 10,000

  ö£õx¨ ÷£÷μmiÀ ÷uõßÖÁx ÷£õßÓ ÂØ£øÚ 

÷£÷μk \›UPmkuÀPÒ PnUøPz u¯õº ö\´P.  

Or 

 (b) What are the advantages of general ledger? 

  ö£õx ÷£÷μmiß |ßø©PÒ ¯õøÁ? 

14. (a) Raveenthar maintain his books in single entry 

system. He provides the following data. Find his 

profit from the data.  

 Rs. 

Invest from 01.01.2016 5,45,000

Invest from 31.12.2016 6,60,000

Taken amount by Raveenthar in the year 2016 1,10,000

Introduced investment at 2016 40,000
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  CμÃ¢uº u©x HkPøÍ JØøÓ¨ £vÄ �øÓ°À 

{ºÁQzx Á¸QÓõº. AÁº ¤ßÁ¸® uPÁÀPøÍz 

u¸QÓõº. AÁØÔ¼¸¢x AÁμx C»õ£zøuU 

PnUQkP.  

 ¹. 

01.01.2016 AßÖÒÍ �uÀ 5,45,000

31.12.2016 AßÖÒÍ �xÀ 6,60,000

2016 B® BsiÀ CμÃ¢u›ß Gk¨¦ 1,10,000

2016 B® BsiÀ AÔ�P¨£kzu¨£mh �uÀ 40,000

Or 

 (b) Write the defects of single entry system.  

  JØøÓ¨ £vÄ �øÓ°ß SøÓ£õkPøÍ GÊxP.  

15. (a) Explain about causes for depreciation.  

  ÷u´©õÚzvß PõμoPÒ £ØÔ ÂÁ›UP.  

Or 

 (b) On 01.01.2010, a company bought a machine for the 

cost of Rs. 1,00,000. Duration of using a machine is 

5 years Rs. 5,000. Find the depreciation ratio by 

solving straight line method.  

  {ÖÁÚ® JßÖ 01.01.2010 AßÖ ¹. 1,00,000 

©v¨¦ÒÍ J¸ C¯¢vμzøu Áõ[Q¯x Auß 

£¯ß£õmk Põ»® 5 BskPÍõPÄ® Auß Gg]¯ 

©v¨¦ ¹. 5,000 BPÄ® EÒÍÚ. ÷|º÷Põmk 

�øÓ°À ÷u´©õÚ ÂQuzøu PnUQkP.  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A trader allows his customers, credit for one week only 

beyond which he changes interest @ 12% p.a. Velan, a 

customer buys goods as follows.  

Date of sale/purchase Amount

Rs. 

January 2, 2018 6,000 

January 28, 2018 5,500 

February 17, 2018 7,000 

March 3, 2018 4,700 

 Velan settles his account on 31st March 2018. Calculate 

the amount of interest payable by Velan using average 

due date method. 

 J¸ ÁºzuPº uÚx ÁõiUøP¯õÍºPÐUS J¸ ÁõμzvØS 
Ámi CÀ»õ©¾® ¤ßÚº BskUS 12% GßÖ Ámi 
Á`¼UQÓõº. ÷Á»ß GßÓ ÁõiUøP¯õÍº ¤ßÁ¸©õÖ 
ö£õ¸mPøÍ Áõ[SQÓõº.  

ÂØ£øÚ ÷uv/öPõÒ�uÀ öuõøP 
¹. 

áÚÁ› 2, 2018 6,000 

áÚÁ› 28, 2018 5,500 

¤¨μÁ› 17, 2018 7,000 

©õºa 3, 2018 4,700 

 ÷Á»ß uÚx PnUøP ©õºa 31, 2018 AßÖ wºzxU 
öPõÒQÓõº. ÷Á»ß ö\¾zu ÷Ási¯ öuõøPø¯U 
PnUQk[PÒ \μõ\› ö\¾zu ÷Ási¯ ÷uv �øÓ°À 
PnUQhÄ®.  
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17. The following is the receipts and payments account of 

Kandan recreation club for the year ender 31st March 

2012. Prepare the Income and Expenditure Account.  

Receipts Rs. Particulars Rs. 

To Balance b/d 7,000 By Salaries 28,000

To Subscriptions  By General exp 6,000

      2010-2011       5,000  By Electricity 4,000

      2011-2012     20,000  By Books purchased 10,000

      2012-2013       4,000 29,000 By Loan repaid 28,000

To Rent conference room 42,000 By Balance c/d 4,000

To Sale of old magazine  2,000  

 80,000  80,000

 Additional data : 

 (a) The club has 50 members, each paying Rs. 500 p.a. 

as subscriptions.  

 (b) Subscriptions outstanding on 31.3.2012 Rs. 5,000 

 (c) Salaries outstanding Rs. 2,000 salaries paid include 

Rs. 6,000 for 2010-2011.  

 P¢uß ö£õÊx÷£õUS PÇPzvß ©õºa 31, 2012 B® 
Bsk CÖvUPõÚ ö£ÖuÀPÒ ©ØÖ® ö\¾zxuÀPÒ 
PnUS ¤ßÁ¸©õÖ. CuøÚU öPõsk Á¸Áõ´, 
ö\»ÂÚU PnUøP u¯õ›UP.  

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

C¸¨¦ R/öPõ 7,000 \®£Í® 28,000

\¢uõUPÒ  ö£õxa ö\»Ä 6,000

      2010-2011       5,000  ªß\õμ® 4,000

      2011-2012     20,000  ¦zuP[PÒ Áõ[Q¯x 10,000

      2012-2013       4,000 29,000 PhøÚ v¸¨¤ ö\¾zv¯x 28,000

P¸zuμ[S AøÓ ÁõhøP 42,000 C¸¨¦ R/öPõ 4,000

£øÇ¯ CuÌPøÍ ÂØÓx 2,000  

 80,000  80,000
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 TkuÀ uPÁÀPÒ  

 (A) ©ßÓzvÀ 50 EÖ¨¤ÚºPÒ EÒÍÚº, JÆöÁõ¸Á¸® 
J¸ Á¸hzvØS ¹. 500 \¢uõ ö\¾zu ÷Ásk®.  

 (B) 31.3.2012 AßÖ ö£Ó ÷Ási¯ \¢uõ ¹. 5,000 

 (C) öPõk£h ÷Ási¯ \®£Í® ¹. 2,000, \®£Í® 
ö\¾zv¯vÀ 2010&2011UPõÚ ¹. 6,000 ÷\º¢xÒÍx.  

18. Gupta traders keep their ledger on the self balancing 

system. The provide you the following information for the 

year ended 31st March 2010. 

 Rs. 

Debtors balance on 1st April 2009 1,37,250

Credit sales 68,100

Returns inward 1,200

Returns outward 1,800

Cash received from customers 76,800

Discount received 2,010

Acceptance received 25,500

Bills receivable dishonoures 3,600

Bed debts written off 7,500

  You are required prepare general ledger adjustment 

a/c in sales ledger to Gupta traders.  

 S¨uõ u[PÒ ÷£÷μkPøÍ uõ÷© \›Pmk® �øÓ°ß£i 
øÁzv¸QÓõº. AøÁ ¤ßÁ¸ÁÚÁØøÓ ÁÇ[SQßÓÚ 
©õºa 31, 2010 Ehß �iÁøh¢u BsiØPõÚ uPÁÀPÒ.  

 ¹. 

H¨μÀ 1, 2009 AßÖ PhÚõÎPÎß C¸¨¦ 1,37,250

Phß ÂØ£øÚ 68,100

EÒ v¸¨£® 1,200

öÁÎ v¸¨£® 1,800
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 ¹. 

ÁõiUøP¯õÍºPÎhª¸¢x ö£Ó¨£mh öuõøP 76,800

uÒÐ£i ö£ØÓx 2,010

^mk ö£ØÓx  25,500

{ÓõP›UP¨£mh ö£/©õ/^ 3,600

ÁμõUPhß 7,500

 S¨uõÂß ÂØ£øÚ ÷£÷μk ö£õx ÷£÷μk \›ö\´uø» 

}[PÒ u¯õ›UP ÷Ásk®.  

19. Mr. Arun keeps his books by the single entry method. His 

position on 31.12.2016 and 31.12.2017 was as follows.  

 2016 2017 

 Rs. Rs. 

Cash in hand 250 300

Cash at bank 2,750 2,200

Stock in trade 21,000 18,000

Sundry debtors 7,500 12,000

Furniture and fittings 1,750 1,575

Machinery 15,000 28,000

Sundry creditors 18,000 23,000

 During the year, Arun introduced Rs. 5,000 as additional 

capital in the business and withdraw by 600 p.m. prepare 

a statement showing the profit or loss made by him for 

the year ended 31.12.2017. 
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 v¸. A¸s Gß£Áº JØøÓ¨ £vÄ �øÓ°À HkPøÍ 

øÁzv¸¢uõº. 31.12.2016 ©ØÖ® 31.12.2017 ® |õÒPÎÀ 

AÁμx {ø» ¤ßÁ¸©õÖ.  

 2016 2017 

 ¹. ¹. 

øP°¸¨¦ öμõUP® 250 300

Á[Q°À öμõUP® 2,750 2,200

Â¯õ£õμa \μUQ¸¨¦ 21,000 18,000

£Ø£» PhÚõÎPÒ 7,500 12,000

AøÓP»ß (©) ö£õ¸zxUPÒ 1,750 1,575

C¯¢vμ® 15,000 28,000

£Ø£» PhÜ¢÷uõº 18,000 23,000

 |h¨¦ BsiÀ v¸. A¸s TkuÀ �u»õP ¹. 5,000 

öuõÈ¾US AÔ�P¨£kzvÚõº. ÷©¾® ©õuzvØS ¹. 600 

Gk¨£õP Gkzuõº 31.12.2017 B® |õÎÀ �iÁøh²® 

|õÎØPõÚ C»õ£® AÀ»x AÔUøP°øÚ u¯õº ö\´P.  

20. On 1.1.2014, a firm purchased a machine for Rs. 80,000 

and spent Rs. 20,000 on its installation. Depreciation is 

charged at 20% as per written down value method on 30th 

September 2016, this machine was sold for Rs. 50,000. 

Prepare machinery account for the first three years 

assuming that the accounting are closed on 31st December 

every year.  
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 J¸ {ÖÁÚ® 1.1.2014 AßÖ J¸ C¯¢vμzøu ¹. 
80,000US Áõ[Q¯x. AuøÚ {ÖÄÁuØPõÚ ö\»Ä ¹. 
20,000 20% ÷u´©õÚ® SøÓ¢u ö\À C¸¨¦ �øÓ°À 
PnUQh¨£kQÓx. 30 ö\¨h®£º 2016 AßÖ C¢u 
C¯¢vμ® ¹. 50,000US ÂØP¨£mhx �uÀ ‰ßÖ 
Á¸h[PÐUS C¯¢vμ P/S u¯õ›UPÄ®. PnUSPÒ 
JÆöÁõ¸ Á¸h�® 31, i\®£›À �iUP¨£kQÓx.  

———————— 


